® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*

ol-&

@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab
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D ()2 + (33)2 = x10
@(3a3b)2 +ab = 9ab

® (2x* +5x—7)+ (-3x + 6x+6) = —x? + 11x + 2
@ (6a%b + 4a®) +2a = 3b + 2a

® -3x(2x—y) + 9x? = 15x2 + 3xy

~&B

O x4+ x6 =8

® (2x%2 +5x—7) + (-3x2 + 6x + 6)
=-x*+11x-1

@ (6a®b + 4a*) + 2a = 3ab + 2a

® -3x(2x - y) + 9x* = 3x* + 3xy
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4. (x+3y-1)(2x+y-2)E AMNstH?

@® 2x% +3x+5xy +2y* -2
@ 2x> +x+Txy+3y2-5
@2x2—4x+7xy+3y2—7y+2
@ 2x% +4x+3xy+3y2-3y-2

® 2x%2 —4x+Txy+3y> -5y -2

(X+§y—1)(2x+y—2)
=2x2 +xy—2x+6xy+3y>2—6y—2x—y+2
=2x2 —4x+ Txy +3y? = Ty + 2
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AB = 24, BC = 20 uf, A3t HEo| Uol| § 5 ¢4, bo] T3
4oz eha?

@ S =nab @S = 2nab ® S = 4nab

@ S = 8nab ® S = 167ab

=n(a + b)? - n(a® + b?)
= n(a® + 2ab + b* — a® - b?)
= 2nab
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® 3x-Ty @ 3x-y @ 2x-4y

@ x-3y @x—y
S5 ‘

2A - {B-2(A-B)} =24 - (-2A +3B)
= 4A - 3B

A, B 9 g2 diYdstd

4A—3B:4xx_22y—3xx_33y

=2x—4y-x+3y=x-y
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300 900 USHE &
a=5,b="17,c=6°|t}.

“a+b+c=18




8. 13+3 {§ + (o.s _ g)} ~ 08 = Aststolal,

D 15 @ 1.6 ®)1.7 @ 1.8 ® 1.9
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A
AxB=36a3b4,§:4a

® 144ab @ 144a*p* ® 144a%p®

@144a4b4 ® 1444°b°

A
A? :(AxB)xE = 36a3b* x 4a

=36x%x4x%xa’xaxb*=144a*b*
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14. 95 F7H 2 4=

@ 230 @320 @ 415 @ 510

~&B

@ 230 = (23)10
@ 320 = (32)10

@ 415 = 230 — (23)10

@ 51

®) 95 = 310

webd] 7bg 2 Sk @ ol




15. (a+b+c-d)(~a+b+c+d)+(a+b-c+d)a-b+c+d) S

AN
@ 2ad + 2bc @ 3ad + 3bc @4ad + 4bc
@ 3ad - 3bc ® 4dad - 4bc

~&B

(a+b+c—-d)(-a+b+c+d)+(a+b-—c+d)(a—b+c+d)
={b+c)+(a-d)}{(b+c)—(a-d)}+{(a+d)+ (b-c){(a+
d)—(b-c)}

=(b+c)-(a-d)?+(a+d)?-(b-c)?

= b% +2bc + % — a® + 2ad — d? + a® + 2ad + d* - b? 4 2bc - c?
= 4ad + 4bc




